Mental Arithmetic 1
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83p= 10psand 1ps 10psand 1ps

Write in digits, four hundred
and eighty.

250 + 100 =

720-100 =

One-third of 27p = p
21-5-7=

30-3=40-

10x2= x4

Six2ps+3p= 5ps 5ps
48 + 8 =

1
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What number is halfway
between 50 and 100?

Write the missing number
in this sequence.

490, 590, 690, , 890

O1ne-tenth of a line measures
53 cm. Find the total length. cm

Write in
words the
time that

is 1Th and
40min later.

How many 10ps in £1.00?

gind the difference between
2 and 2.

How many metres is 600cm? m

Divide 27 into three equal
parts. Find one part.

Find the total of 300, 150
and 500.

Multiply 8 by 5 and then
add 3.
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SECTION 2 | Test 6
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A number minus 7 equals 19.
What is the number?

By how many pence is £1.38
more than £1.00?

The rectangle is twice as long
as it is wide. Find the width.

17¢m
-

rectangle

Two notes together make £40.
What are the notes?

What number is the arrow
pointing to?
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Ali has these coins.
How much has he altogether?

How many days are there
from 28 May to 4 June?
(Do not count 28 May.)

A bucket, when a quarter
full, holds 33 How many
litres will it hold when
three-quarters full?

Three breadsticks cost 12p.
How much is paid for four
breadsticks?

Which of these lengths is
nearest to 60cm?

%m, 62%cm, 58%cm, 66cm
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